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SECTION -  A (5 × 8 = 40)

Answer any FIVE questions.
ALL questions carry EQUAL marks.

1. Explain the relationship between Sociology and
organisational behaviour.

2. Explain the foundation of organisational
behaviour.

3. Discuss the relationship between learning and
behaviour.
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10. g_Ω√ˆ[ ERG ºÔV‚√V‚Á¶ s·¬zÔ.

11. g”Á\ ®©√Ω Â¶¬ÁÔ xÁ≈l_ ÿƒ_kV¬ÁÔfl

ÿƒK›m˛≈m ®[√>Á™ s·¬zÔ.

12. ∂Á\©AÔπ_ √_ºkÆ kÁÔBV™ >Ôk_ xÁ≈ÔÁ·

cÚkV¬zk>[ x¬˛B›mk›Á> s·¬zÔ.

13. ∂Á\©AÔπ_ c^· ∂]ÔV´ ∂´EB_Ô”¬ÔV™

ÔV´∫ÔÁ· g´VFÔ.
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4.Bring out the important role of leadership in
organization.

5.Describe the hierarchy theory of Abraham
Maslow.

6.Explain the equity theory of motivation.

7.Write a note on group formation and
development.

8.Explain the causes for change in organization.

SECTION  -  B(3 × 20 = 60)

Answer any THREE questions.
ALL questions carry EQUAL marks.

9.Critically examine the factors that determine the
behaviour in organization.

10.Explain Aldefer’s ERG theory.

11.Analyse how personality influence the behaviour.

12.Explain the significance and the means of
establishing multiple channels of communication
in the organization.

13.Explain the factors contributing to power politics
in organization.

23

>twV¬ÔD >twV¬ÔD >twV¬ÔD >twV¬ÔD >twV¬ÔD

∏ˆ° ä ∂ ∏ˆ° ä ∂ ∏ˆ° ä ∂ ∏ˆ° ä ∂ ∏ˆ° ä ∂( 5 $ 8 = 40 )

®ÁkºB–D nÕm nÕm nÕm nÕm nÕm s™V¬Ô”¬z sÁ¶Bπ¬Ô°D.

∂Á™›m ∂Á™›m ∂Á™›m ∂Á™›m ∂Á™›m s™V¬Ô”¬zD ƒ\ƒ\ƒ\ƒ\ƒ\ \]©ÿ√ıÔ^.

1.∂Á\©A Â¶¬ÁÔ¬zD ƒJÔsBK¬zD c^·

ÿ>V¶ÏÁ√ s·¬zÔ.

2.∂Á\©A Â¶¬ÁÔl[ ∂Ω©√Á¶ÔÁ· s·¬zÔ.

3.Ôu≈K¬zD Â¶¬ÁÔ xÁ≈¬zD c^· ÿ>V¶ÏÁ√

skˆ.

4.∂Á\©∏_ >ÁÈÁ\l[ x¬˛B›mk›Á> kÁ´BÆ.

5.\V¸ºÈVs[ √ΩWÁÈ º>Ák¬ ºÔV‚√V‚ΩK^·

∂kEB∫ÔÁ·© √‚ΩBo|Ô.

6.ª¬ÔD √u§B ƒ\WÁÈ¬ ºÔV‚√V‚Á¶ s·¬zÔ.

7.zø¬Ô^ cÚkV¬ÔD \uÆD, k·ÏflE z§›m z§©A

kÁ´Ô.

8.∂Á\©A \Vu≈∫Ô”¬ÔV™ ÔV´∫ÔÁ· s·¬zÔ.

∏ˆ° ä g ∏ˆ° ä g ∏ˆ° ä g ∏ˆ° ä g ∏ˆ° ä g( 3 $ 20 = 60 )

®ÁkºB–D J[Æ J[Æ J[Æ J[Æ J[Æ s™V¬Ô”¬z sÁ¶Bπ¬Ô°D.

∂Á™›m ∂Á™›m ∂Á™›m ∂Á™›m ∂Á™›m s™V¬Ô”¬zD ƒ\ƒ\ƒ\ƒ\ƒ\ \]©ÿ√ıÔ^.

9.∂Á\©∏[ Â¶¬ÁÔl_ √∫Ôπ¬zD √_ºkÆ

ÔV´ËÔÁ· ÊÏ#¬˛ g´VFÔ.
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